

Mr. Guy Matula Fort Bend County Engineering 301 Jackson St. Richmond, TX 77469

March 15, 2022

Project #'s

2017 Mobility

Invoice #'s

0329569 0329570 0329572 0329573

\$ 5,749.94

Due Date PO#

April 29, 2022 167428

Combined Invoice Total \$5,749.94

Total Current Invoice

Professional Services Period: February 1, 2022 to February 28,2022

Percheron #	FBC Project #	2017 Mobility Project Name	Current Invoice Amount
05.004808.0000	17313x	McCrary Road - PO 167428/2017	\$3,697.50
05.005439.0000	17303	SH 99 - PO 167428/2017	\$1,693.65
05.000520.0000	17314X	Cinco Ranch TL Road PO 167428/2017	\$ 0.00
05.005816.0000	17307	Peek Road PO 167428/2017	\$ 201.29
05.006710.0000	17325x	Hunt Road PO 167428/2017	\$0.00
05.006831.0000	17320x	Fry Rd Donation PO 167428/2017	\$157.50

Billing Limits	Current	Prior Outstanding Invoices	To Date
Total Billings	\$ 5,749.94	\$7,378.71	(\$342,159.96)
Total Contract Amount			\$448,245.00
Remaining Funds Available		_	\$106,085.04

Project	Current Invoice	Prior Outstanding Invoices	Total Invoiced to Date
17313x McCrary	\$3,697.50	\$5,968.50	\$219,620.05
17303 SH 99	\$1,693.65	\$ 1,256.25	\$69,219.78
17314x CRTL	\$ 0.00	\$ 0.00	\$28,398.16
17307 Peek	\$ 201.29	\$ 0.00	\$11,896.29
17325x Hunt Road	\$0.00	\$ 0.00	\$9,419.56
17320x Fry	\$ 157.50	\$ 153.96	\$3,606.12
Totals	\$5,749.94	\$7.378.71	\$342,159.96



Project No:

05.004808.0000

Invoice No: Due Date: 0329569 April 29, 2022

PO / WO / AFE:

167428

Guy Matula Fort Bend County 301 Jackson Street Richmond, TX 77469

Invoice Total

\$3,697.50

Project

05.004808.0000

Project# 17313X - McCrary Road PO: 167428/2017 Mobility

Professional Services from February 1, 2022 to February 28, 2022

Professional Personnel

	Quantity	Rate	Amount	
Project Manager Kaplan, Arlene	12.75	90.00	1,147.50	
ROW Agent Senior Cavazos, Jorge	33.5	75.00	2,512.50	
Miller, Rhia	0.5	75.00	37.50	
Total Labor				3,697.50
Billing Limits	Current	Prior	To-Date	
Total Billings Total Contract Amount Remaining Funds Available	3,697.50	215,922.55	219,620.05 265,150.00 45,529.95	
			421	Name (and a second

Total this Invoice

\$3,697.50

Outstanding Invoices

Number	Date	Balance
0327226	1/13/2022	3,296.25
Total		3.296.25

	Current Invoice	Prior	Invoiced To Date
Labor	3,697.50	137,901.25	141,598.75
Appraisers	0.00	72,000.00	72,000.00
Expense	0.00	4,221.30	4,221.30
Unit	0.00	1,800.00	1,800.00
Totals	3,697.50	215,922.55	219,620.05

Project

PERCHERON INVOICE SUMMARY

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
05.004808.0000 - FBC -	Proj#17313	x - McCrary	Rd P016		0.02 - Produ	ction and I	Procureme	ent 100.000) - Project I	Manageme	nt				
Kaplan, Arlene	5.000	450.00													450.0
Total 100.000:	5.000	450.00													450.0
Total 0000.02:	5.000	450.00													450.0
05.004808.0000 - FBC - I	Proj#17313	x - McCrary	Rd PO16	7428 000	1.02 - Parce	P01-E Pro	duction a	nd Procure	ment 100.	000 - Proje	ct Managen	nent			
Kaplan, Arlene	1.250	112.50													112.5
Total 100.000:	1.250	112.50													112.5
05.004808.0000 - FBC - I	Proj#17313	x - McCrary	Rd P016	7428 000	1.02 - Parce	P01-E Pro	duction a	nd Procure	ment 150.	000 - Acqu	isitions				
Cavazos, Jorge	3.250	243.75													243.7
Total 150.000:	3.250	243.75													243.7
Total 0001.02:	4.500	356.25													356.2
05.004808.0000 - FBC - I	Proj#17313	x - McCrary	Rd P016	7428 0002	2.02 - Parcel	P02-E Pro	duction a	nd Procure	ment 150.	000 - Acqu	isitions				
Cavazos, Jorge	5.750	431.25													431.2
Total 150.000:	5.750	431.25													431.2
Total 0002.02:	5.750	431.25													431.2
05.004808.0000 - FBC - I	Proj#17313	x - McCrary	Rd P016	7428 000	3.02 - Parcel	P03-E Pro	duction a	nd Procure	ment 100.	000 - Proje	ct Managen	nent			-
Kaplan, Arlene	4.000	360.00													360.0
Total 100.000:	4.000	360.00													360.0
05.004808.0000 - FBC - I	Proj#17313	x - McCrary	Rd P016	7428 000	3.02 - Parcel	P03-E Pro	duction a	nd Procure	ment 101.	000 - Proje	ct Support				
Miller, Rhia	.500	37.50													37.5
Total 101.000:	.500	37.50													37.5
05.004808.0000 - FBC - F	Proj#17313	x - McCrary	Rd P016	7428 0003	3.02 - Parcel	P03-E Pro	duction a	nd Procure	ment 150.	000 - Acqu	isitions				
Cavazos, Jorge	6.000	450.00													450.0
Total 150.000:	6.000	450.00													450.0
Total 0003.02:	10.500	847.50													847.5
05.004808.0000 - FBC - I	Proj#17313	x - McCrary	Rd P016	7428 0004	4.02 - Parcel	P04-E Pro	duction a	nd Procure	ment 100.	000 - Proje	ct Managen	nent			
Kaplan, Arlene	1.250	112.50													112.5
Total 100.000:	1.250	112.50													112.5
05.004808.0000 - FBC - F	Proj#17313	x - McCrary	Rd P016	7428 0004	4.02 - Parcel	P04-E Pro	duction a	nd Procure	ment 150.	000 - Acqu	isitions				
Cavazos, Jorge	10.000	750.00													750.0
Total 150.000:	10.000	750.00													750.0
Total 0004.02:	11.250	862.50													862.5
05.004808.0000 - FBC - F	Proj#17313	x - McCrary	Rd P016	7428 000	5.02 - Parcel	P05-E Pro	duction a	nd Procure	ment 100.	000 - Proje	ct Managen	nent			
Kaplan, Arlene	1.250	112.50													112.5
Total 100.000:	1.250	112.50													112.5
05.004808.0000 - FBC - F	Proj#17313	x - McCrary	Rd P016	7428 000	5.02 - Parcel	P05-E Pro	duction a	nd Procurer	ment 150.	000 - Acqu	isitions				
Cavazos, Jorge	8.500	637.50													637.5
Total 150.000:	8.500	637.50													637.5
Total 0005.02:	9.750	750.00													750.0
Total 05.004808.0000:	46.750	3,697.50				-80-0-0-0									3,697.5
- Control of the Cont															

PERCHERON INVOICE DETAIL

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
Miller, Rhia																
2/21/2022	.500	75.00	37.50													37.50
Work Detail	Reviewed	d payment	package.													
Total Miller,	.500		37.50													37.50
Rhia: Cavazos, Jorge																
2/7/2022	.250															18.75
Work Detail 2/15/2022		75.00	discussion ar	nd update.												37.50
Work Detail	Commun	icate with	PO regarding	counteroff	er updates	and request	meeting.	Jpdate Logs	3.							
2/21/2022	.250	75.00	18.75													18.75
Work Detail	Team Me	eting Upd	ate for Status	of this File												
2/23/2022	1.500	75.00	112.50													112.50
Work Detail			d meet with F	O to Discu	iss amende	d counter of	fer.									
2/24/2022	.750	75.00	56.25													56.25
Work Detail	Updated	logs and s	ent information	n request	to PO.											
2/7/2022	.250	75.00	18.75													18.75
Work Detail 2/15/2022		offer status 75.00	discussion ar	nd update.												37.50
Work Detail	Commun	icate with	PO regarding	counteroff	er updates	and request	meeting.	Jpdate Logs	S.							
2/21/2022	.250	75.00	18.75													18.75
Work Detail	Team Me	eting Upd	ate for Status	of this File	i g											
2/23/2022		75.00														112.50
Work Detail 2/24/2022		75.00	id meet with F 56.25	O to Discu	ss amende	a counter of	тег. •									56.25
Work Detail	Updated	logs and s	ent information	on request	to PO.											
2/28/2022	2.500	75.00	187.50													187.50
Work Detail			nts, scanned a	and update	d drives.											
2/7/2022 Work Detail		75.00 counteroff	75.00 er and set up	meeting w	ith property	owner.										75.00
2/8/2022	3.000	75.00	225.00													225.00
Work Detail	Create ad	cceptance	documents a	nd set up r	neeting with	property ov	vners.									
2/14/2022	.750	75.00	56.25													56.25
Work Detail	Scan Doo	cuments, l	Jpload and er	nail Title C	ompany for	Closing Do	cs.									
2/15/2022	1.000	75.00	75.00													75.00
Work Detail	Check Re	equest Pa	ckage - Draft I	Preparation	and Subm	ittal										
2/21/2022	.250	75.00	18.75													18.75
Work Detail	Team Me	eting Upd	ate for Status	of this File	E)											
2/7/2022	.250	75.00	18.75													18.75
Work Detail	Countero	ffer status	discussion ar	nd update.												
2/9/2022	1.000	75.00	75.00													75.00
Work Detail	Update L	.ogs														
2/10/2022	3.000	75.00	225.00													225.00
Work Detail	Drive to F	Richmond	Texas and me	eet with pro	operty owner	r to discuss	and sign a	acceptance	documents	3.						
2/11/2022	3.750	75.00	281.25													281.25
Work Detail	Meet with	n property	owner to disc	uss and sig	gn acceptar	ice documer	nts. Begin	documents :	set up digi	tal files and s	end to PM	and drives				
2/14/2022	.750	75.00	56.25													56.25
Work Detail	Scan Doo	cuments, l	Jpload and er	nail Title C	ompany for	Closing Do	cs.									
2/15/2022	1.000	75.00	75.00												oeenstrents (TS) TV TV	75.00
Work Detail	Check Re	equest Pa	ckage - Draft	Preparation	and Subm	ittal										
2/21/2022	.250	75.00	18.75													18.75
Work Detail			ate for Status	of this File) 											
2/7/2022	.250	75.00	18.75				-									18.75
Work Detail	Countero															

Project	05.	00480	8.0000	F		roj#173			•	200 000000 000		ln	voice	03	329569	
Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	illing Perior	Deferite and Control and Control	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
Cavazos, Jorge	е				,											
2/14/2022	1.500	75.00	112.50													112.
Work Detail	Communi	cate with F	O regarding	countero	ffer and pre	pare docum	ents for ex	ecution.								
2/15/2022	.500	75.00	37.50													37.
Work Detail	Communi	cate with F	O regarding	countero	ffer updates	s and reque	st meeting.	Update Lo	js.							
2/18/2022	3.500	75.00	262.50													262.
Work Detail			eview docum	ents. Pick	-up execute	ed documen	ts and scar	and set-up	o in drive. Se	end HUD do	cuments re	quest to Title	e Company			
2/21/2022 Work Detail	.250		18.75	of this Ell	lo.											18.
2/23/2022	2.000		ite for Status													150.
Work Detail			uest Packag	е												100.
2/28/2022	.500		37.50													37.
Work Detail	Updated I	og and che	ecked on lier	release.												
Total Cavazos,	33.500		2,512.50													2,512.
Jorge: Kaplan, Arlene																
2/7/2022	1.000	90.00	90.00													90.
Work Detail			eroffers with	County: p	reparation	with Jorge to	take offers	s back out t	o property o	wners						
2/8/2022		90.00	90.00													90
Work Detail	Complete	repots, m	eeting and d	iscussion	with County	about cour	nteroffers ar	nd approac	h to settleme	ents						
2/11/2022	.500	90.00	45.00													45.
Work Detail			ts in prepara	tion for Jo	rge's meeti	ng today to	get propert	y owner to	sign all acqu	isition docu	ments for F	03 and P04				405
2/17/2022	1.500		135.00		E 11 11				2 04 0	-						135
Work Detail 2/18/2022	1.000		nents for the 90.00						5, 04, and 0	o. 						90
Work Detail	Review of	f final invoi	ce for Janua	ry; record	ed on sprea	adsheet trac	ker for Mob	ility '17.								
2/16/2022	1.250	90.00	112.50													112
Work Detail	in discuss	sion over p	resentation t	o P01 and	d P02 (Birge	es) regardin	g cattle cros	ssing and N	lathan's requ	uest for \$6.5	50					
2/15/2022	1.500	90.00	135.00													135
Work Detail			nents for clo	sing and s	started prep	aration for p	ayment pkg	to FBC								
2/20/2022	1.500		135.00													135
Work Detail 2/21/2022	Reviewed 1.000		ent package 90.00	for P03E.												90
Work Detail	Reviewed		package for 45.00	closing ar	nd sent to F	BC.										<u>-</u> 45
Work Detail			ment reques	st												45
2/21/2022	.750	90.00	67.50													67
Work Detail 2/16/2022	Reviewed .750	payment 90.00	package and 67.50	sent to F	BC for clos	ing funds										67
Work Detail				owner to	further disc	cuss fence.	Suggested	FB will not	do anything	more on fer	nce than dis	scussed at \$	8,500. Own	er agreed to	settle; Jorge	will prepa
2/23/2022	and get si .500	igned form 90.00	s. 45.00													45
Work Detail	Reviewed	d documen	ts for Mr. & N	Иг. Marion	na to sign fo	r acceptanc	e.									
Total Kaplan,	12.750		1,147.50													1,147
Arlene:																



Project No:

05.005439.0000

Invoice No:

0329570

Due Date:

Total this Invoice

April 29, 2022

\$1,693.65

Guy Matula Fort Bend County 301 Jackson Street Richmond, TX 77469

Invoice Total

\$1,693.65

05.005439.0000

Project# 17303 - SH 99

Professional Services from February 1, 2022 to February 28, 2022

Professional Personnel

	Quantity	Rate	Amount	
Project Manager Kaplan, Arlene	7.25	90.00	652.50	
ROW Agent Senior Cavazos, Jorge	11.75	75.00	881.25	
Total Labor				1,533.75
Reimbursable Expenses				
Other Expenses			159.90	
Total Reimbursables			159.90	159.90
Billing Limits	Current	Prior	To-Date	
Total Billings Total Contract Amount Remaining Funds Available	1,693.65	67,526.13	69,219.78 110,100.00 40,880.22	

Outstanding Invoices

Number	Date	Balance
0327227	1/13/2022	690.00
Total		690.00

	Current Invoice	Prior	Invoiced To Date
Labor	1,533.75	61,170.00	62,703.75
Appraisers	0.00	5,870.00	5,870.00
Expense	159.90	486.13	646.03
Totals	1,693.65	67,526.13	69,219.78

Project 05.005439.0000 FBC - Project# 17303 - SH 99 Invoice

PERCHERON INVOICE SUMMARY

Billing Period from February 01, 2022 to February 28, 2022

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
05.005439.0000 - FBC -	Project# 17	303 - SH 99	0000.02	- Producti	on and Prod	curement	100.000 -	Project Mar	agement						
Kaplan, Arlene	7.250	652.50													652.5
Total 100.000:	7.250	652.50													652.5
05.005439.0000 - FBC -	Project# 17	303 - SH 99	0000.02	- Producti	on and Prod	curement	150.000 -	Acquisition	S						
Cavazos, Jorge	11.750	881.25													881.2
Fort Bend Title, LLC													159.90	159.90	159.9
Total 150.000:	11.750	881.25											159.90	159.90	1,041.1
Total 0000.02:	19.000	1,533.75											159.90	159.90	1,693.6
Total 05.005439.0000:	19.000	1,533.75											159.90	159.90	1,693.6
Invoice Total:	19.000	1,533.75											159.90	159.90	1,693.6

0329570

PERCHERON INVOICE DETAIL

2/9/2022 Work Detail F 2/11/2022 Work Detail F 2/16/2022 Work Detail F 2/17/2022 Work Detail F 2/21/2022	1.250 P207 - Com .500 P203 and P	75.00 us request 75.00 munication 75.00 205 - State	75.00 with attorn 93.75 n with attor	ey regardi	ng respons	e to Final Off	er and log	s update.								18.7
Work Detail F 2/9/2022 Work Detail F 2/11/2022 Work Detail F 2/16/2022 Work Detail F 2/17/2022 Work Detail F 2/21/2022	P205 - Statu 1.000 P207 - Statu 1.250 P207 - Com .500 P203 and P	75.00 75.00 request 75.00 munication 75.00 205 - State	75.00 with attorn 93.75 n with attor	ey regardi	ng respons	e to Final Off	fer and log	s update.								18.7
2/9/2022 Work Detail F 2/11/2022 Work Detail F 2/16/2022 Work Detail F 2/17/2022 Work Detail F 2/21/2022	1.000 P207 - Statu 1.250 P207 - Com .500 P203 and P	75.00 us request 75.00 munication 75.00 205 - State	75.00 with attorn 93.75 n with attor	ey regardi	ng respons	e to Final Off	fer and log	s update.								
Work Detail F 2/11/2022 Work Detail F 2/16/2022 Work Detail F 2/17/2022 Work Detail F 2/21/2022	1.250 P207 - Com .500 P203 and P	75.00 munication 75.00 205 - State	93.75 n with attor 37.50				er and log	s update.								
2/11/2022 Work Detail F 2/16/2022 Work Detail F 2/17/2022 Work Detail F 2/21/2022	1.250 P207 - Com .500 P203 and P	75.00 munication 75.00 205 - State	93.75 n with attor 37.50				er and log	s update.								75.0
2/16/2022 Work Detail F 2/17/2022 Work Detail F 2/21/2022	.500 P203 and P 1.000	75.00 205 - Stati	37.50	ney regard	ling final off	er and respo										93.7
2/17/2022 Work Detail F 2/21/2022	1.000		is undate r				onse.									37.5
Work Detail F		75.00		equest reg	arding utilit	y easements	S.									
2/21/2022	P207 - Statu		75.00													75.0
		ıs Update	regarding l	Easement	in proposed	ROW.										
and the second s	4.750	75.00	356.25													356.2
Work Detail F	P207 - Cour	nteroffer P	ackage sub	omittal and	Forms											
2/23/2022	1.500	75.00	112.50													112.5
Work Detail 0	Checked wi	th P203 ar	nd P205 reg	garding Do	nation Stat	us and upda	ted Logs.									
2/24/2022	.500	75.00	37.50													37.5
Work Detail F	P203 - Rese	earched pa	arking ques 75.00	tion and re	esponded to	PO.										75.0
Work Detail F	P207 - Appr	oved cour	iteroffer do	cuments s	ent to attori	ney and upda	ated log.									
Total Cavazos,	11.750		881.25													881.2
Jorge:																
Kaplan, Arlene 2/1/2022	1.500	90.00	135.00													135.0
Work Detail F	Review clos		or P203 an 45.00	d 205 to b	e sent to pr	operty owne	rs to close	by donation	ı. 							45.0
	Preparation	of reports	for meeting	a												
2/11/2022	.500		45.00													45.0
				consent to	give P207	additional 7	days to co	mplete cou	nter to Cour	nty. Meantin	ne legal ca	prepare fo	r ED if need	led.		
2/21/2022	2.000	90.00	180.00													180.0
				r; some di	scussion wi	th Jorge, rev	iew of app	raisal, etc.	Jorge will pr	epare pack	age.					
2/23/2022	1.000	90.00	90.00													90.0
	Completed			d sent to F	BC											
2/28/2022	1.750	90.00	157.50													157.5
Work Detail (Calls and di	scussion v	vith FBC, n	egotiator,	etc. to work	out counter	offer and g	et approval	69							
Total Kaplan, Arlene:	7.250		652.50													652.5
Fort Bend Title, L	LLC															
2/15/2022														159.90	159.90	159.9
AP Detail	Ownership/	_ien searc	h request b	y Lienhold	ler FBC											
Total Fort Bend Title,														159.90	159.90	159.9
LLC:	19.000		1,533.75											159.90	159.90	1,693.6



407 Julie Rivers Drive, Sugar Land, Texas 77478 281-242-0600:Office 281-242-7474:Fax closings@fortbendtitle.com RECEIVED THEB IN 71 2022.

INVOICE

Billed To:

Fort Bend County, Texas

c/o Percheron Field Services

301 Jackson Street

Richmond, Texas 77469

Remit Payment

To:

Fort Bend Title, LLC

407 Julie Rivers Drive

Sugar Land, Texas 77478

Invoice Number:

1571908230

Invoice Date:

February 7, 2022

Project Name:

Sawtelle Cinco Ranch LLC; Project # 17303, SH 99 Parcel 204

Ownership and Lien Search Requested by Lienholder:

\$159.90

TOTAL DUE:

\$159.90

Stephanie J. Stigant

Prej#17303 - SH 99
Prospect: 05,005439
Client: FBC
acription: <u>leen pearel</u>
imount: \$ 159.90



Project No:

05.005816.0000

Invoice No:

0329572

Due Date:

April 29, 2022

Guy Matula Fort Bend County 301 Jackson Street Richmond, TX 77469

Invoice Total

\$201.29

Project

05.005816.0000

Project# 17307 - Peek Road PO: 167428/2017 Mobility

Part of 2017 Mobility

Professional Services from February 1, 2022 to February 28, 2022

Professional Personnel

	Quantity	Rate	Amount	
Project Manager				
Kaplan, Arlene	1.75	90.00	157.50	
Total Labor				157.50
Reimbursable Expenses				
Postage			43.79	
Total Reimbursables			43.79	43.79
Billing Limits	Current	Prior	To-Date	
Total Billings	201.29	11,695.00	11,896.29	
Total Contract Amount			21,475.00	
Remaining Funds Available			9,578.71	
		Total this	Invoice	\$201.29

Outstanding Invoices

Number	Date	Balance
0327228	1/13/2022	45.00
Total		45.00

	Current Invoice	Prior	Invoiced To Date
Labor	157.50	5,695.00	5,852.50
Appraisers	0.00	6,000.00	6,000.00
Expense	43.79	0.00	43.79
Totals	201.29	11,695.00	11,896.29

Project (

05.005816.0000

FBC - Project#17307 - Peek Road PO167428

Invoice

0329572

PERCHERON INVOICE SUMMARY

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
05.005816.0000 - FBC -	Project#173	07 - Peek R	oad PO1	67428 0000	.02 - Produ	iction and	Procurem	ent 100.00	0 - Project	Managem	ent				
Kaplan, Arlene	1.750	157.50													157.5
Total 100.000:	1.750	157.50													157.5
Total 0000.02:	1.750	157.50													157.5
05 005916 0000 - ERC -	Project#173	07 - Pook P	oad PO1	57428 000v	N2 - Parco	I DO1-Droc	uction and	d Procurom	ont 101 0	nn - Projec	t Support				
05.005816.0000 - FBC -	Project#173	07 - Peek R	oad PO1	67428 0004	1.02 - Parce	P01-Prod	uction and	d Procurem	ent 101.0	00 - Projec	t Support				
FedEx	Project#173	07 - Peek R	oad PO1	67428 0004	1.02 - Parce	l P01-Prod	uction and	d Procurem	ent 101.00	00 - Projec	t Support	43.79		43.79	
05.005816.0000 - FBC - FedEx Total 101.000:	Project#173	07 - Peek R	oad PO16	67428 0004	I.02 - Parce	I P01-Prod	uction and	d Procurem	ent 101.00	00 - Projec	t Support	43.79 43.79		43.79 43.79	
FedEx	Project#173	07 - Peek R	oad PO16	67428 0004	I.02 - Parce	I P01-Prod	uction and	d Procurem	ent 101.00	00 - Projec	t Support				43.7
FedEx Total 101.000:	Project#173	07 - Peek R	oad PO16	67428 0004	I.02 - Parce	l P01-Prod	luction and	d Procurem	ent 101.00	00 - Projec	t Support	43.79		43.79	43.7

Project

05.005816.0000

FBC - Project#17307 - Peek Road PO167428

Invoice

0329572

PERCHERON INVOICE DETAIL

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
Kaplan, Arlene																
2/11/2022	.500	90.00	45.00													45.00
Work Detail	Received	docs for P	DE 01 Fergu	ison closir	ng. will scan	and send to	title compa	any.								
2/14/2022	1.250	90.00	112.50													112.50
Work Detail	Receipt of	f check and	d document f	for P01 - F	erguson clo	sing. Scanne	ed and ent	ered docum	nents and th	en prepared	d to send to	Title Co.				
Total Kaplan, Arlene:	1.750		157.50													157.50
FedEx																9.0
2/17/2022													43.79		43.79	43.79
AP Detail	Fed Ex Sh	nipping														
Total FedEx:										111	, and the same of		43.79		43.79	43.79
iotai redex:																

FedEx

	Original Customer Reference	POD Delivery Date	Recipient Name	Recipient Company	Recipient Address Line 1	Recipient City	Shipper Name	Shipper City	Net Charge Amount
	05.005816.0000 FBC - Project#17307 - Peek Road PO167428	20220215	Brenda Frey or Stephanie Stigant	Fort Bend Title Co.	407 Julie Rivers Dr.	SUGAR LAND	Arlene Kaplan	SPRING	\$21.20
•	05.005816.0000 FBC - Project#17307 - Peek Road PO167428	20220211	ATTN.: ARLENE KAPLAN	Percheron	20010 CYPRESSWO OD SPGS	SPRING	Britten Harris	RICHMOND	\$22.59
									\$43.79

Project# 17303
Prospect: - SH 99
Ft. Bend
Client: County
Description: FedEx
Amount: \$ 43.79



Project No:

05.006831.0000

Invoice No: Due Date: 0329573 April 29, 2022

Guy Matula Fort Bend County 301 Jackson Street Richmond, TX 77469

Invoice Total

\$157.50

Project

05.006831.0000

Project# 17320x - Fry Rd Donation PO: 167428/2017 Mobility

Professional Services from February 1, 2022 to February 28, 2022

Professional Personnel

	Quantity	Rate	Amount	
Project Manager				
Kaplan, Arlene	1.75	90.00	157.50	
Total Labor				157.50
Billing Limits	Current	Prior	To-Date	
Total Billings	157.50	3,448.62	3,606.12	
Total Contract Amount			5,000.00	
Remaining Funds Available			1,393.88	
		Total this I	nvoice	\$157.50

Outstanding Invoices

Number	Date	Balance
0327229	1/13/2022	450.00
Total		450.00

	Current Invoice	Prior	Invoiced To Date
Labor	157.50	3,386.25	3,543.75
Expense	0.00	62.37	62.37
Totals	157.50	3,448.62	3,606.12

Project 05.006831.0000

FBC - 17320x - Fry Rd Donation PO: 16

Invoice

0329573

PERCHERON INVOICE SUMMARY

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
05.006831.0000 - FBC -	17320x - Fry	Rd Donatio	on PO: 16	6 0000.02 -	Production	and Proc	urement	100.000 - Pr	oject Mana	agement					
Kaplan, Arlene	1.750	157.50													157.50
Total 100.000:	1.750	157.50													157.50
Total 0000.02:	1.750	157.50													157.50
Total 05.006831.0000:	1.750	157.50										-			157.50
Invoice Total:	1.750	157.50													157.50

Project 05.006831.0000 FBC - 17320x - Fry Rd Donation PO: 16 Invoice 0329573

PERCHERON INVOICE DETAIL

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
Kaplan, Arlene																
2/3/2022	1.000	90.00	90.00													90.0
Work Detail	emails and	d calls with	Joseph S, L	isa Kassr	nan regardir	ng schedule.	Waiting for	final sche	dule in a cou	uple of week	cs.					
2/4/2022	.750	90.00	67.50													67.5
Work Detail	emails to	loseph and	d response to	o Lisa w K	aty ISD											
Total Kaplan, Arlene:	1.750		157.50													157.5
Invoice Total	1.750		157.50													157.5